1) Domain: (-0, 3] 2) Domain:

Range: Range:

(—OO, OO)

5) Domain: [-8, 2]

6) Domain: (-o0, )

G-3

Solutions

Part 1
[-4, 4] 3) Domain: (-0, o) 4) Domain: [-4, )
[-4, 4] Range: (-0, 0) Range: [-3, «0)

7) Domain: [1, 7]

8) Domain: (-0, o)

Range: [-5, 5] Range: [-5, ) Range: [-3.0] Range: (-0, )
) vy x‘z 3 5
—_ / 2 A
‘ ) y=—v25-x 3))—2x 3
relative maxs: None relative maxs: (-5,0) and (5,0) relative maxs: None
e 0 relative mins: (0, -5) relative mins: None
x-intercepts: {£1.73} x-intercepts: {5} x-intercepts: {1.2}
: . y-intercepts: (0, -5) y-intercepts: (0,-3)
y-ntercepts: (0, -3)
. domain: [-5,5] domain: (-co, ©0)
domaln. ('KX), 00) range: [-5,0] range: (-OO’ OO)
range: [-3, )
2 2
nx=(y+2) -3 55y =36—x
relative maxs: None relative maxs: (0.6)
relative mins: None relative mins: (0,-6)
x-intercepts: {1} x-intercepts: {+6}
y-intercepts: (0,-0.27) and (0,-3.73) y-intercepts: (0,6) and (0,-6)
domain: [-3,0) domain: [-6,6]
range: (-oo, o0) range: [-6,6]
1
6)2x+3_y+12~_—0 7)}}:—1 g)y:lx1+x
-
Ieiafve moxs. Nome relative maxs: None relative maxs: None

None

{6}
: (0,4)

relative mins:
x-intercepts:
y-intercepts
domain: (-0,%)

range: (<o,»)

This graph never touches the x- or y- axes. These are asymptotes.

relative mins: None relative mins

x-intercepts: None .
x-1ntercepts
y-intercepts: None )
) y-ntercepts
domain: (-0,0) U (0,00)
range: (0,0 domain

range

. weird: None, or
* absolute min: y =0

: weird: (-0,0]
: (0,0)
: (-00,00)

: [0,00)



